2015/10/18 / —ERX 7<% STFVF7AVAY
24 ML BIRIATAITITTRATANILINES
= 5 IJ\EPETETEWETQ
B M /J—ER FTI STUTAUAY
= f+F 2015/10/18
soikdorkok [ HEIRRE ] kekokkokkk
No. 5 6 7 & #HE
Z2 F £ R R R =4
2 I HE * % x 3 1P
3 /AR X * % x 3 1P
TtUI=# = 0
sokkorkk [ R B ] krkorkkk
NO. E F 4 5 6 7 JEf
& H Rumba
2 JIE JHE 2 2 1 2.0
3 #/K X 1 1 2 1.0
BRERER
No. E F 4 R A&t B
2 ) HE 20 2.0 20
3 K X#H 1.0 1.0 1.0
5 EiE BEF
6 A BRI
7 Ee I IS

sorordork [ ERIREEER ] wkkkkk

SEBRESHRE F K & N—b+F—-% w B B # R
1 11070481 G #&# AKX FE £K B OB X B

2 11070354 G il HE Sl OTATF B OB Eefr 2.0
3 11070484 G &K X 7 OB OE1L 1.0



